05900 NEEMPRIRR 4 K B3-S JEBE- A 5 5k X

‘Rost | 7= R i B
frei
STAINLESS STEEL *j‘*sl- N
T,

RELRRIEF

g
%@’O

B
SmRREFEH, TAXARIERE . "AURIENEFRE
B T REREM,

M -

05280 BRI 18

05899 A FHRIEFRZH H & BEs
07111 FHEMRIHIKE R iR
07119 FEHEME L1242

07120 #TAFE k124 DIN 6332
07140 &P DIN 6311

3 a o
\gﬁif ‘i% €D €8
B6 =
" A3 | A3
A2
A A_
=
s 8 ®
! D
~B1 57 "'=$
| &
===
— A2
Ty ™
:r A
05900-104002 1 87° 69° 80 400 500 250 300
05900-105002 2 86° 67° 100 650 900 550 620
05900-106002 3 86° 67° 160 1350 1900 720 1200
05900-108002 3 86° 67° 200 2000 2800 830 1400

© norelem www.norelem.com




05900 NEEMPRIRR 4 K B3-S JEBE- A 5 5k X

M

A|A1| A2 A3 | A4

B

B1

B2

B3

B4 | B5| B6

Cc

05900-104002 M4x16 |16 24 128 095| 16 | 24 10272 (125 15 20 | 11,7495 42 287|263 | 91,8 | 237
05900-105002 M5x25 (18 27|45/ 136 - |16,8|27,3 13,2 | 9,2 - 2 225172525 55 434|389 | 125,7 | 41,8
05900-106002 M6x35 |26 39(6,5| - - 28 | 39 175|125| 23 25 435|254| - 55 63,7596 | 186,6 | 60,5
05900-108002 M8x45 |26 44| 9 - - 31 45 21 16 | 24 25 415|322 - 6,2 739|701 | 2231|749

© norelem www.norelem.com



